1 e

PEFRET AR ’3‘1153 pRE(Z B
iL

(iR ABRRY F)
A M4 p g £ 7 p| Emp # 4P
B AL SRS R CLEN-P i} 12 7k)
KEFES & ’ P F % 5
Vg ikp = ! PlY 58 kR 7 (4o @ LR F2)
1. 85412” IB 12_’:};;#—7?#] G EF
[] & ¥ L p
] 3!@; t Ju fEf ~ P () KR E T F: p
(] &4 N3 KfF & 7 F: 3 P
Ot 7 Gger): &1
2. 85&2“ IB PeATFEELET C(LLFHALIRALET S 78
L] #m - 2 P
BiEv et DQMI’S]BW’SIW'H?& ar'*p%( D) JEF £ T # : p
g ke ? L] 97&#121p > &4 ILF%(W)?(EW.E ) -3 p
(18 & & F (;%-;’f;cﬂ) E: 3 P
3. FrERET
AERpE T &P p kEpFHETZE D E L Es B
[181#8" 1p# T8 = Fia F: = 3 n
[181#8 1pisixmf = FieeF: & 3 P
4. MR - R () FFFEFATRETRY O F 0 O LGREE)
rspRF: & 0 pi & 0 p; & P pi & 0P
|OET7 iR S ,
E T (e g | L QaATIPS i w Gisep ) p_ & " pA=z & v py
vy e Pl g Talb gy Gisem) p & 7 paes & 5 pu
d %ﬁ—%?r}ai{%‘i 22 B REFEFT(FHFOREFT ~IARET)
W = e o &0 P SFATFPEES &0 P
. F“ gg_l_: -/& n B
f L _
(89 7 #3 2.FxEREF:  E 0
FRET) |3 e P ) .
LA AR S 2 2 R {3 ik e s e 0] % 1818 % 197
¢ T ik [0 mskisde » £im60/& (%14): [0 =gkis2de (524)
PR =

:,kﬁ}uw i+

T 14

2. BT ik :

&2 B AHOR R R R ot i B % 200 5 1R

(] E3i%5% > 2 #5655k 4




.- %3k
L] =5t - s15# f (316 % 157)
O] A% 0 2k ket & & 4p MR 2% (33268 ¥ 157/ #5684 ~ %397/ 7254 )
HRE - Giger)

2.1 %k &
[ =&is15# 2 & 808/% (5 320 % 158 % 14%0)
[] 107467 30p + @B e %255 » i 5504 (%326 % 798)

(] # &1154# &% 2y 1 BBA(F #5504 ) 5 ¢ =k p + L Aos LRz
T OE-
E: Giéem)

3. HAEL/2- w3k &&r1/27 ik &
[] =85 15% ¢ & R58& (%3218 % 198 % 140)
[]107#6% 30p = ixBe j525% ¢ #8504k (% 321% % 758 )

(0 # &115% 2 R ABACT # 504 5 ¥ h@ikp + e -+ xk
F_E
O @ : Giger)

4] BH " i3k & (%326 %4798 % 230)
5.0 R 3Rk & (%3215 %478 % 330)
6.1 1/22. - i3k &% 1/2E % " i3tk & (% 320F % 458 % 430)
7.0 1/22. - i3tk £ 2 1/2 %8 " 131Kk &£ (% 327% % 458 % 53%)

CA(E B

@j‘%\\: pl‘ E—‘j’d Aiﬁl ipu]bﬁf"?l?"Fall5-&}iq‘,‘%)}?§"}j;5—i
f

S - ACiE DR WMy &R

P
5




